Axle Mounting Plate and Hardware

e

7 //\\\
Yy ‘() \
7

Y

/A
"/ 5}9 ?| Axle Mounting Plate for
S N 24" Wheels

>
e
%
/ e
70 /
/
e/

for 12,20 & 22"
Wheels

PermanentAxle

Quick Release Axle



Axle Mounting Plate and Hardware

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 1044945 Nut, Hex (3/4-16) 1 1
2 1025701 Washer, Steel (3/4 x 1-1/4 x 1/16") 1 1
3 A 1059101-NLA | NLA - Plate, Axle Mounting -Offset 1 1
3 B 1106331-NLA | NLA - Plate, Axle Mounting 1 1
4 1026178 Bushing, Axle (2-1/2") 1 1
5 1040361 Axle, Quick Release w/ Locknut (1/2" x 5") 1 1
6 1049227 Screw, Hex Head (1/2-20 x 5-1/4") 1 1
7 1025737 Locknut (1/2-20) 1 1
8 1055350 Screw, Hex Head (1/4-28 x 2-1/4") 1 8
9 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 16
10 1026900 Washer (1/4 x 23/32 x 1/16") 1 8
11 1065362 Locknut (1/4-28) 1 8

NOTE: A-12"20" and 22" Rear Wheels

B - 24" Rear Wheels




